/-\ngle Grinder 013502-01-01 220~230V

CT13502-125 VERSION:B2 DATE:201703020

n* —— 013502-100

N** —— 013502-115
n***k—— 013502-125

6#“ 6*. 6#

5
41”#4*;4‘\E |

P

e}
2ttt2t#2;\—@

[eeqes 8
e

48
§0% 5O** 5%k




CT13502-125R

1 32810100601 HapyskHblit pnaHey, @ 125 1
2 32606200101 BHyTpeHHMit pnaHew, @ 125 1
3 34837100101 BuHT M5x25 1
4 33546200101 aLIMTHBIA KOXyx @ 125 1
5 34726500201 KBagpaTHas ravka 1
6 33273400101 Wnunaena M14 1
7 34819200101 BuHT M4x14 4
8 34825800101 Mblne3awmnTHbIN Yexon 1
9 33867800101 KpblWwKa Kopnyca pegyktopa 1
10 32032900101 YnnoTHUTeNnbHoe Konblo @ 46,5 x @ 1.5 1
11 35400700501 LWapumKoBblii nogwnnHuK 6201-2RS 1
12 34711300101 waiba, @ 31.6 X @ 21x0.8 1
13 34715700101 CTonopHoe KonbLo ana oteepctua @ 32 1
14 33100300101 LWecTepHs 6onblias 1
15 35403300201 LLlapukoBsblit noawnnHnk 606-RS 1
16 34713300101 CronopHoe KonbLo ansa Bana @ 5 1
17 32033000101 Pe3nHoOBasn KoJ/IOHKa 1
18 34728400501 Camopes ST4x22F 4
19 35223800101 Mpy>nHa 3aMKa WNUHAEeNA 1
20 32868600301 KHonKa 6/10KMPOBKK WNUHAeNs 1
21 33867700101 Kopnyc peaykTopa 1
22 30239700201 JononHuTenbHasa pyKoAaTKa 1
23 34831000101 Malika M8x1 1
24 33100400101 LLlectepHs manas 1
25 35401201301 LWapwukosbint nogwmnHmk 6000.2 RS 1
26 33547100101 KpbiwkKa nogwmnHmka Q235 1
27 34720200401 BUHT M4x12 2
28 23848000101 AKopb 1
29 35400203701 LWapuKoBbIit nogwnnHuK 608-2RS 1
30 30163800102 MblnesawmTHOE KONbLO 1
31 32023600101 BTy/Ka noAWmMNHMKA 1
32 30163800102 LOednektop 1
33 34730000301 Camopes ST4x70C 2
34 23633300101 Cratop 1
35 30228800301 KHonKa dsrk.xfntkz 1
36 30343800101 Kopnyc aAsuratens 1
37 42160700702 JTUKeTKa 1
38 34719000201 Camopes 3x10 2
39 36212800501 YronbHasa weTKa 2
40 33540700101 LeTkoaep»atenb 2
41 35235400101 npy»uHa 2
42 36420700101 Bbikntouartenb 1
43 34727900501 Camopes ST4x16F 2 BxoawuT B N03.44
44 22402800101 3axKum 1 BxoouT B 03.43
45 30344100101 NAAHKa BKAOYEHMUA 1
46 37400101301 KoHpeHcaTop 1
47 30343900401 3a4HAA KpbIWKa 1
48 32002300201 PykaB WHypa 1
49 34727900501 Camopes ST4x16F 1
50 30323400101 MnacTnkosas Tapenka 1
51 37101000701 WHyp 1
52 33420300101 [aeyHbIN KAtoY 1
53 32046700101 Konbuo ®35xP1 1




